sample questions estimate and significant figures has 9 layers timelypractice.com

1. Complete
UB = .
v
4e i 134=... correct to 1 significant figure.
LB= 4

2. 6.503 correct to the nearest integer equals ..........

3. Complete this estimate for

48X T2~ ... X ...~ ......
4. Write 2.8738 correct to 1 significant figure. (1 <n < 10 and n > 20 NOT a teen number)
5. Work out an estimate for 56 x 25
6. Write 19.25 correct to 1 significant figure. (10 < n < 20 i.e. a teen number)
7. Write 0.005834 correct to 1 significant figure. (0 < n<1)

8. (a) Write 27359.65 correct to 2 significant figures.

(b) Write 27359.65 correct to 3 significant figures.

9. (a) Write 0.0075936 correct to 2 significant figures.

(b) Write 0.0075936 correct to 3 significant figures.
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